
 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 
 

Open front mobile animal field shelter assembly 

Before you commence the assembly process, we recommend that you read these instructions 

thoroughly beforehand to familiarise yourself with the assembly process and to also check that you 

have the correct components. If for any reason you need assistance, you can find our contact details at 

the top of the page of these instructions. 

We highly recommend that any assembly is carried out on a flat, level surface if possible and that you 

use another person to assist you if necessary for your convenience all guide holes are pre-drilled. 

Ensure that you have all the correct parts listed on the front page of these instructions, including any fixings. 

Press here for the assembly video 

Package contents      Tools required 

 

 

 

 

 

  

• 4x slides 

• 2x Side panels 

• 1x Back panel 

• 1x Front panel 

• 5x Rafters 

• Roof panels 

• 4x Feather edge covers 

• Necessary screws and fixings 

Electric screwdriver (No.2 Pozi bit) or 

Screwdriver. 

http://www.arborgardensolutions.co.uk/
https://www.youtube.com/watch?v=8bMakbbdICw


 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 

 

 

 

   

   

   

   

   

   

   

   

   

   

   

    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 1 Step 2 

Step 3 Step 4 

Take two of the smaller slides and place them on two of the 

longer slides as shown in the picture, before securing it with 

the coach screw or the metal corner make sure that the 

shorter slides are properly aligned with the marked line. 

After securing all 4x corners measure both diagonals they 

must be the same length to continue your assembly. 

Before continuing to the main corpus assembly please check 

the bottom of each board. There you will find protection 

cubes that save panels from damage while in transit. You 

need to knock them down before starting further steps of 

the assembly. 

Front and rear corpus panels will have kickboards that need 

to be screwed out before placing the panels on the slides so 

that the remaining predrilled pilot holes would be visible. 

http://www.arborgardensolutions.co.uk/


 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

  

 

 

Step 5 Step 6 

Step 7 Step 8 

Fit in the back panel between the slides on the longer 

side. 

Please make sure before securing any of the 

panels that everything is perfectly aligned. 

 

Now take 6x80mm wood screws and secure the back 

panel to the slides as shown in the picture. 

Take the side panel and secure it to the back panel with the 

4x80mm wood screws via predrilled pilot holes. 

http://www.arborgardensolutions.co.uk/


 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 11 Step 12 

Step 13 Step 14 

Place the front panel in the same manner and secure it with the 

4x80mm wood screws making sure that everything is aligned. 
Take the remaining side panel and secure it from both sides 

with 8x80mm wood screws. 

After the main corpus is secured, you can screw the front 

panel to the slides with the 2x80mm wood screws. 

After making sure that all 4x corpus panels are safe and secured 

with the necessary wood screws you can go and put back the 

kickboards to their places securing each of the rows (Marked in 

the picture) with the 25mm wood screws. 

http://www.arborgardensolutions.co.uk/


 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 15 Step 16 

Step 17 Step 18 

Now place 5x of the rafters in the position as shown making 

sure that each of them is equally aligned and has same gap 

between one another. (Use the provided spacer 53cm) 

Secure each rafter end with 1x80mm wood screw via 

predrilled pilot hole as shown in the picture. (2x 80mm wood 

screws per rafter.) 

Place the roof on top of your assembly leave 5cm 

from front back and the sticking corner so that 

everything would spread equally.  

Keep putting on the rest of the roof panels making sure 

that the last roof wave would go underneath the new 

roof wave so that they could connect and be screwed per 

one screw. Please use the provided screws to secure the 

roof to the assembly. 

http://www.arborgardensolutions.co.uk/


 Phone number: 01945 410950  
support@arborgardensolutions.co.uk 
http://www.arborgardensolutions.co.uk 
Trading address: Unit 11, Cattle Dyke, Wisbech, England, PE1 34NR   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

Step 19 Step 20 

Open front mobile animal field shelter is now 

completed! 
We hope that you found your product quick and easy to assemble but if not and you require further 

assistance or have any questions you can contact us via the details above.  

Also, you can check our YouTube channel for assemble videos, click on the link below: 

 

https://www.youtube.com/watch?v=8bMakbbdICw 

 

Or type in YouTube search box Arbor Garden Solutions. 

 

 

After securing the roof panels take the provided feather edge 

boards and place them as shown in the picture to cover the 

roof side waves. Secure one of the feather edge boards with 

16x40mm wood screws. 

Place the second half of the cover aligning it with the first 

one. Again, secure it with the 16x40mm wood screws. 

Complete step 20 on the other side of the shelter as well. 

http://www.arborgardensolutions.co.uk/
https://www.youtube.com/watch?v=8bMakbbdICw

